Algebra 1: 3.1 & 3.2 Quiz Review Name Period

Choose the term that best completes each sentence.

Linear Regression Correlation Coefficient Line of Best Fit

1. The line that best approximates the linear relationship between two variables in a data set is the

Line 0![' best ‘P:t

2. _Junecr regressSios models the relationship between two variables in a data set by
producing a line ofbest fit.

3. Cm/ m/a:éom COCﬂQ‘Q cen JCindicates how closely data points form a straight line (also
known as the r-value).

4. For each graph, if the correlation is positive write a “1” beside it. If the correlation is negative, write
a “~1” beside the graph. If there is no correlation, write a “0” beside the graph.
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5. The table and graph show the attendance for an annual spring concert at Eva’s high school for 6
years starting in 2007 with attendance of 789 people.

A. What is the linear regression equation yme +b

for concert attendance? Round the slope 2_ 0 5" &l
and y-intercept to a whole number. = 0,880

- A5« + 57 g W=BATL b=50504
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B. Whatis the correlation coefficient? g 05 '
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=0, 7 0 | 82
1 884
C. What does this r~value tell you about the line 12| o
of best fit?
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D. Use the linear regression equation to predict the attendance for 2016. Hint: the table begins at 7 which

represents 2007. o = . ﬂ _ 45(“0) . 5?5
Y= 995
Ro1b sttendance = 995

E. Use the linear regression equation to predict what year attendance would be about 1400. Round to a
whole number and add 2000 to find the year.

y=1400  H0O = RS5x + 575 K& 3L
F05 = X5x atendance s
s 335 = K 1400 m KO 3L,

6. The table and graph show the shows monthly record sales of a recording artist over 6 months. The table
starts in January for month 1 with record sales of $24,980.

yImel + b A'» 20000
A. Whatis the linear regression equation for STATISTICS REE’Dﬁ’ BN o 3
record sales? Round the slope r =0-§6§32 & o) TN T T T
and y~intercept to a whole number. p::ﬁﬂs N o+ ' 15
=—1696.6 b= 24857 ' \
Y= - 6975 + RYEST w LN
@ 7 — 20000/ — (7“’ -
B. Whatis the correlation coefficient? ! 24000 R R Y
2 | 20345 JufE ] L | Ne
v o 7 3 | 18204 |
4 17899
C. What does this r~value tell you about the line ¢ ] L6068
of best fit? . e st 7£'-f-
The Line of best 171 6 | 15302

/5 o ﬁoocf rcprcscm -,La'f'i&vl O'iﬁ
the data because it is elose fo =/,

D. Use the linear regression equation to predict the record sales for October. Hint: use 10 for October.
AL =10
Y= ~1697 (10) + &4%57
= *7%¢7
reeord sales for October = L 7%87

E. Use the linear regression equation to predict what month will have record sales around 10,000.

Y Y = 10000 y
Ly 10000 = 1697 ® + 4857
@70\;%"10( - 14857 = —1697 % vecord sales mfaunGL
| 875 = x« | 10000 I 59“““&””
V"




7. The Marshall High School Athletic Association sells tickets for the weekly football games. Students
pay $5 and adults pay $10 for a ticket.

A. Define your variables and write an expression to represent the situation.
S= B OF student tickets 10
a.= # alc adul+ ticKefs 58" 78

B. How much money would the athletic association collect if 100 students and 50 adults buy tickets
to the game? = = 10O R el e 5O

5(100) + 10(50)
500 t 8O0

#1000
C. They want to make $10,000 at Friday night’s game. Write an equation to represent the situation.

53 + I0a-= /o(ooo

D. If825 students attend, how many adult tickets need to be sold to reach their goal?
s= 835  5(8R5) + 10a = 10000
4I1R5 + [Oa = 10000
[Od "= 5395
=5 876 & 588 adult +7'C/<e+s
E. If 580 adults attend, how many student tickets will need to be sold to reach their goal?
a=580 53 +]0(580) = (00O
bs + 5900 = 10009
S =400
53 = Iéé,fo Student hekets

~
Find the x-intercept and y-intercepts for each equation.

8. 15x+20y =300 9. 3x+2y=-8

y=0 % =0 3:0 H=0
LY 2 ' =300 _ -
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10. 3x—-y=-3 11. x+4y=12
g—'O /K"!D J:O xX=0
Iy -0 =3 Z/Cd)'j: -3 w+ 4(0):12 o+d4y- /2
3x=-3 —ﬂ;’.B X /2 4/3,-/;2
- =3
k==l Y=3 (13,0) =
(-1,0)
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Find the x-intercept and y-ihtercept for each equation. Then, graph each equation.

12. 5x-4y =20 13. 5x+4y=20
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